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Turn over 

Answer all questions in the spaces provided.

 1 (a) Using the information in Figure 1, calculate the change in the Eden Project’s unit costs 
per visitor between 2005/6 and 2006/7.
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 ............................................................................................................................................
(6 marks)

Question 1 continues on the next page
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 1 (b) Analyse two reasons why the Eden Project’s cash flow may have been negative during 
the financial years 2005/6 and 2006/7.
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  Extra space  ........................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................
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 1 (c) Discuss the actions that the Eden Project’s managers might have taken to maximise 
the performance of the Eden Project’s workforce as it grew from 5 to 750 employees.

   
 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................
(12 marks)



6 Do not write 
outside the 

box

(06)
G/K46586/Jun10/BUSS2

  Extra space  ........................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 ............................................................................................................................................

 1 (d) Has the Eden Project improved its competitiveness as a business over time?
Justify your view.
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  Extra space  ........................................................................................................................
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 ............................................................................................................................................
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Turn over for the next question
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 2 Read the case study below and then answer the questions that follow.

A Matter of Time

George Liddell is a watchmaker.  His watches are designed and assembled using 
high quality Swiss-made mechanisms.  He is proud of his watches and argues that 
they are as good as many which sell for much higher prices.  His company, 
GL Ltd, has a range of 250 watches which sell for a maximum price of £450.  
George’s high quality watches are sold at low prices when compared with his rivals’ 
prices.  Competitors, such as Tag Heuer and Omega, with well-known brand names 
and celebrity endorsements charge more than £2000 for some of their watches.  
George thinks that demand for his watches might be price inelastic.

GL Ltd is organised into a number of departments of which the three largest are 
Operations, Marketing, and Administration and Finance.  George relies heavily on 
financial methods to motivate his workforce.  Assembly workers receive bonuses for 
meeting production targets and all employees receive fringe benefits such as health 
insurance.  Departmental managers receive a share of profits.

George’s marketing budget is small and relies heavily on internet marketing, targeting 
30–50 year olds who wish to own a prestigious but affordable watch.  He does 
not use retailers who demand evidence of expensive advertising campaigns and 
who set prices at twice the cost of the watch.  In 2009, he sent 25 000 catalogues 
to customers which generated a surprisingly high level of sales for such a small 
mailshot.  George also depends heavily on recommendations from existing customers 
to create sales.

Figure 2: Budgeted and Actual Revenues and Costs for GL Ltd, 2009




















